EARAROBEEIERT — 2 N— IBISH —F 2017518158 (B) 1EFW5H

Il >%4%LE 500AFATF (GRA) [HETE] ©2 ‘ (X B ‘ [ERsRI]  — | & (%) 12000 HE

[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

NRPIE = o4 ?EU(J)Z&— 1:(12).1 2-2 37.8| 94.2 | 3 | 492 i&&%‘?%)éi&iﬁ) .
LixvTFoby—L BT RNA D — (-2) EEE%%W%}

oW1 ENTEH o4 | RERC 1(:31/34.)2 4-3  |37.5|93.4 | 6 | 478 %?%E (=8
L:Zg4 T hHLE kN BUNTAZXTIA b ) IR 7

31714l FrA2EY> H o4 %%IE% 1(:11/22.>3 8-8 |37.3| 92.6 | (4;3) ;Eggm (i)
LTINTFINZ2 B:Y=FvyTya—L ke

4N 7| HTZTLAR % 4 | ERE— 1(/1&”3 7-3 374|925 | 10 | 494 Eﬁ‘é; (=)
QI NATA—H— BHTS #1250 XU s

5 s @7 IHL—H— #H o6 ;57_5(3)% 1(:31/;4.)5 3-3 37.9| 90.5 | 2 490 );Eté% (=)
R:TIEEE BIALKETIAL 02 ass—n

6l5/10| 7T RTY Y 4 | BORE e 110 |37.20 90.0 | 4 | 424 | MEEEL GER)
Rixry ¥ RuE BiA = bL— K ) ormas

7l8lg| @X=—Y 71>V fo4 | BlRRA 12 46 |37.8|89.7 | 5 <4+923) 2@%& ()
A2:Broken Vow #£F:Penny Arcade Lynn Schiff

8 | Heruce s (8] > 5 E—%&gﬂ: 1(:11/22.)7 1-12 |37.3| 89.1 | 12 | 510 E(iiﬁ%ﬁﬁ(f?—j»
L:7v3I7—-L B:IAFH- © SH i
N e e % : - THI& (Ei

911 |EbyYTNRAT Ho4 ﬁ’?’giﬂ 1(;253 14-14  |37.0| 88.4 | 1 (i?i) HE%@%%)
LI AT A—h— B:LTATE-—L I EE 45035

10 g| 7ok 4 4 ?;F'a{%icﬂrﬁ 1(:31/;4.)9 14-12 [ 37.1| 87.4 | 13 | 502 /JJ_F\%—&?; (=)
R:hxe¥x) B:Ea—-F¢70>K (-6) 2 s

1Mlzl13| P>/ 271407 i o6 57;{%%11% 1(;11/32.>o 10-8 37.7| 86.2 | 7 510 %ig% (E#)
QXN TFLRF 4= BAATARFLR O e

12/ 8|15/ ®NVTH T v Y # 5 g%ﬁ$ 1:(133).5 1-1 39.3|83.1| 8 (5:)22) ggﬂigz (&)
LT RIA Y L—> BAFIAFIT 75 Nty
ONZRIEFLZ it 5 %{%IE&T (11:113/.47) 16-16 | 37.6 | 80.1 | 14 | 434 i;?_(%@
R:xA1=ZGy7—R2 B4 —>Vxy b (48) HET77—»4L
#wILNO B2 8 | A= 1(713t>7 9-10 |38.6|80.2| 9 | 480 ;Ja\iéf ()
Z:Nd B:Yav/IUHYFARZ (+8) Eﬁﬁ%
Hho I T7—=2y o4 | A 1( 713t§s 46 |39.0]79.9 | 15 | 450 %igﬁ%— (&8)
QT ETA VA=Y BiIUPNRZZA— b 02 | o mae
S5 - #H 5 %%ﬁﬁ% 1:(134).3 11-14 | 38.9| 75.2 | 16 | 480 Ei(?;;ﬂ'l/]%’f)/
LT RN Ty BiF vy T M2 | 550 0 Bdmus

@ 71 L

) 49.6-37.9

NA>Z4 L | 12.0-10.5-11.7-12.4-12.5-13.0

® I —F—@EBIERL

|2=3F=

230—7F—

dal=3r= 15,2-4(12,16,9)7,14,6,13(3,10,11)-(8,1)-5

40—F— |15,2(7,4,12) (16,9) (13,14) (10,6) (8,11) (3,1)-5

[ N3

B O 2 6809 714K 2-12 1,660 e E 1-6 4,670 RPEL ) 2-12-14 4,010

BB 2 180M 2-14 280 B = 2-12 6,440M JEH 2-12-14 36,740

12 360/ 12-14 800 | | & & 2-12 11,070
14 110

ABICOVWTRDTEEERROODE. TR LIV,



